B lLWmoOHBEMODARAEHTFR

[(BRANESNEADEET AR ER194E1081BBE
Bra— BT £ Bt ykd i [ #ax Bra— BT £ Bt ykd Bl D Bra— BT £ B = &t HEHHK
IS [ 0 0 off 0 46 [EET—TBH 102 136 238 95 sor |BY ET % PR 535 512 1,047 436
102 |K ) 0 0 ol 0 47 |mET-ZTEH 20 27 47| 20 g2 (B 4 & 202 201 403 146
103 |4t ) 211 228 439 155 148 [[I4=E—TH 65 73 138 48 803 |Bf HT b HET 198 237 435| 157
104 [ W AT 130 142 272 107 149 [I4=E=TH 76 81 157 76 s0o4 (B HT K I 651 632 1,283 535
105 [ & 65 72 137 56 150 [H 4 — TH 312 303 615 271 805 [BAFET R~ & 232 240 472 181
106 % A& H 6 8 14 6 151 [B#RH-TEH 42 52 94 30 806 |EATEL/NAY 211 223 434 145
107 [T 4 = B 0 0 0 0 152 [BHRH=TEH 329 334 663 254 807 |Bd HT /N B 56 54 110 46
108 [ B g E 11 10 21 8 153 |[H#mTAH 68 47 115 77 sos | BT & F 366 322 688 315
109 [ A 76 85 161 63 154 |7 4 R B 247 217 464 148 s09 |Bf HT B (L 142 126 268| 100
o |&A  h  Hr 20 18 38 13 810 [HETHA—f 89 108 197 73
AR i 50 70 120, 48 201 |=  F 179 207 386 132 811 (B8 BT ™ [ 67 56 123|| 43
2 |f 4 3R HT 41 46 87 36 202 |th EH 174 188 362 113 s12 B9 HT & R 63 65 128 46
13 [ W 48 67 115 42 203 |F E H 560 568 1,128 402 813 |Bf HT %8 & 25 31 56 14
14 |\ BT 162 188 350, 141 814 |B§ BT R H 47 28 75 20
15 @ E 67 75 142] 65 01 |% ) 541 524 1,065 448
16 [H M = E 188 192 380 191 2 |# R AT 189 176 365 137 901 |Bf HT T A 49 51 100 36
" |@ = E 163 145 308 149 03 |f1 HE AT 860 817 1,677 732 902 |BH HT 7 #h 55 74 129 46
18 |% & H 16 8 24| 13 4 [N A H 840 825 1,665 558 93 (B9 BT R T 41 85 126 74
RENEE | 28 28 56|| 23 305 |3 A JI| HEr 100 98 198 71
120 @ % E 377 252 629 369 06 |& & Y #1213 1,196 2,409 895 951 |Bd BT & 1§ 8 11 19 7
121 |[#  #  m 194 200 394 156 7 |&# ¥ F A 1,141 1,145 2,286 721 952 |BH HT #& Il 30 34 64 19
122 |8 B ® 494 438 932 395 8 |# T EMNE 683 649 1,332 395 953 [h0 K T 15 112 113 225 79
123 B #F AT 496 511 1,007 368 954 |p0 X M H 76 96 172 58
124 |4 W4 348 404 752 347 401 |E & H 634 537 1,171 459 955 M0 K4 4 3R 48 59 107 37
125 |f % H HT 958 843 1,801 732 402 |E B F Hr 235 216 451 176 956 [0 X # K 38 53 91 37
126 |8 W 248 268 516 172 403 |k & H 234 248 482 140 957 |0 K R B 89 106 195 70
127 | A H 1 1 2| 2 404 [ s BT 998 1,061 2,059 751 958 M AIER 68 74 142 46
128 X M HT 0 0 0 0 05 |6 T B HT 901 831 1,732 693 959 |MABHER 132 140 272 98
129 & f1 K E 209 233 442 156 ~ =
130 (A & 49 38 87 26 501 |& $K L AT 398 432 830 268 5 24865 24918] 49,783) 19,328
1B @ T R A 145 152 297 90 500 (@ B AT 502 488 990|| 310 (RSLEN) 1,118 1,241 2359 1684
132 |4 B B H 141 161 302 141 503 |50 3 ¥ AT 344 376 720 218
133 |mE B H 252 256 508 192
134 XM —TBH 73 72 145 58 601 |B K AT 229 235 464 148
135 (XM -TBH 241 224 465 184 602 |/ Il BT 196 241 437 159
16 [XK®M=TBH 186 193 379 144
137 |[XK#mmTEH 143 144 287 109 01 | & AT 908 816 1,724 848
138 [f1 & E 159 155 314 115 702 |A FE ¥ AT 337 477 814 455
B9 [ #§ m 196 208 404 181 703 |/h B ET 75 77 152 53
40 |[E B 158 165 323 137 704 |K T AT 103 102 205 65
(I S | 164 139 303 134 705 Ik F Hr 306 284 590 231
42 |AET—TBH 61 45 106|| 55
43 [AETZ=TH 160 179 339 130
44 |AET=TBH 164 238 402 196
145 |AET @ TH 195 202 397 162




